

5.7. Integrals that result in Inverse Trig functions

Basic Formulas

$$\textcircled{1} \int \frac{dx}{\sqrt{a^2 - x^2}} = \sin^{-1}\left(\frac{x}{a}\right) + C.$$

$$\textcircled{2} \int \frac{dx}{a^2 + x^2} = \frac{1}{a} \cdot \tan^{-1}\left(\frac{x}{a}\right) + C.$$

$$\textcircled{3} \int \frac{dx}{|x|\sqrt{x^2 - a^2}} = \frac{1}{a} \sec^{-1}\left(\frac{x}{a}\right) + C$$

E.g. $\textcircled{1}$ $\int \frac{dx}{\sqrt{1 - 16x^2}} = \int \frac{dx}{\sqrt{1 - (4x)^2}}$ let $u = 4x$.
Then $du = 4 dx$

$$\frac{1}{4} \int \frac{\boxed{4 \cdot dx} \overset{du}{}}{\sqrt{1 - \boxed{(4x)^2}}} = \frac{1}{4} \int \frac{du}{\sqrt{1 - u^2}} = \frac{1}{4} \sin^{-1}(u) + C$$

$$= \frac{1}{4} \sin^{-1}(4x) + C.$$

E.g. $\textcircled{2}$ $\int \frac{dx}{\sqrt{9 - x^2}} = \int \frac{dx}{\sqrt{(3)^2 - x^2}} = \sin^{-1}\left(\frac{x}{3}\right) + C$

E.g. $\textcircled{3}$ $\int \frac{dx}{25 + 4x^2} = \int \frac{dx}{25 + (2x)^2} = \frac{1}{2} \int \frac{\boxed{2 dx} \overset{du}{}}{25 + \boxed{(2x)^2}}$

let $u = 2x$. $du = 2 dx$

$$= \frac{1}{2} \int \frac{du}{(5)^2 + u^2} = \frac{1}{2} \cdot \frac{1}{5} \cdot \tan^{-1}\left(\frac{u}{5}\right) + C$$

$$= \boxed{\frac{1}{10} \cdot \tan^{-1}\left(\frac{2x}{5}\right) + C}.$$

Nov 28-4:34 PM

Nov 28-4:39 PM

$\textcircled{4} \int_0^{1/2} \frac{\sin(\tan^{-1} t) dt}{1 + t^2} \xrightarrow{du}$

let $u = \tan^{-1} t$. Then $du = \frac{1}{1 + t^2} dt$

$$\int \sin(u) du = -\cos(u) + C = -\cos(\tan^{-1} t) \Big|_0^{1/2}$$

$$= -\cos\left(\tan^{-1}\left(\frac{1}{2}\right)\right) - \left(-\cos(\tan^{-1}(0))\right)$$

$$= \boxed{-\cos\left(\tan^{-1}\left(\frac{1}{2}\right)\right) + 1}$$

$\textcircled{5} \int \frac{dt}{t\sqrt{1 - (\ln t)^2}} \quad \text{let } u = \ln t. \text{ Then } du = \frac{1}{t} dt$

$$= \int \frac{du}{\sqrt{1 - u^2}} = \sin^{-1}(u) + C = \boxed{\sin^{-1}(\ln t) + C}$$

Nov 28-4:39 PM